Al g Ol &b Ak H Al A
2016 & 20l &F k3l
2H: HSXED
& 1200 M2=¢
B o: o200 FARKASY
8 @212 NBRAY (69 @2
SN2 Ol &k 24 B ol by Bl =2t
ES Al 3,288,287 2,813,072 475,215
M= X &t 3,288,287 2,813,072 475,215
200 Mel=+=¢ 2,250,000 1,800,000 450,000
210 S FAM 2= 2,250,000 1,300,000 950,000
212 AHEE Y 2,250,000 1,300,000 950,000
212-08 JIEtAIE = 2,250,000 1,300,000 950,000
O33HM=EAE MAEE 2,250,000
500 Ex3 1,038,287 1,013,072 25,215
510 = 1Ex3S 972,465 958,574 13,891
511 218X =3S 972,465 958,574 13,891
511-02 N9 EHEE3HEELS 700,000 700,000 0
O2HMEAE =4 700,000
511-03 7132 272,465 258,574 13,891
OFYK MEHSNEK 29 97,152
0028 Mg MEHSNEH 29 60,720
OAZ=ZH0ISHAY 114,593
520 Al - SHIEXZS 65,822 54,498 11,324
521 Al - SHIEXZ32S 65,822 54,498 11,324
521-01 Al - SHIEXZ32S 65,822 54,498 11,324
OAEZ=2AMN0ISHAMNS 14,733
OMEMsLa 22 10,886
oMEHE 84 4,000
ORISR 29 1,901
OFAE Meuwad 24 1,901
Faol MSHE 29 2,074
OCLMENS e 29 1,123
SEEIEI-PERE 604
OZ e MESotel X 13,600
Q2016 EHeld ot2I1tHEl 15,000




= o
A & 0l & AF 2 E A A
20169 = S0l& LA MK
M HEXH B
Hu: MEBHR 84
chelr MBS 248 CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
M= XI& 2t 12,424,181 10,931,360 1,492,821
Xl 700,000
J| 272,465
< 65,822
Al 11,385,894
dHEHE 4 6,131,676 4,521,705 1,609,971
X 700,000
J| 272,465
< 50,822
Al 5,108,389
MEH=S 243 1,172,896 1,166,885 6,011
J| 272,465
< 50,822
Al 849,609
MEHsSRY 29 36,288 36,288 0
< 10,886
Al 25,402
307 21201 A 36,288 36,288 0
< 10,886
Al 25,402
02 QItFAAHE X 36,288 36,288 0
OdaEHsns 29 36,288
= 10,886
Al 25,402
MEH=Ua HE 2 FIOHXA 461,565 478,111 N 16,546
202 O4dl 2,100 2,100 0
01 = LH 4 Hi 2,100 2,100 0
OdeHs =N 2,100
203 YR =&l 1,000 1,000 0
03 AIBFAH S =AY 1,000 1,000 0
OMEBISHSN &It ¥ H0HY NSES o
=48l 1,000
307 glz2+ol & 458,465 475,011 A 16,546
02 QIZtE M AHEE 121,500 121,500 0
OdEHsUH d3U3 &It NH 13,500
OZ4aEr dEHsUH=EE &It X 80,000
OZ4gr MENSUHSE s EX 3,000
OZ&EE H2NMENSHE &It 20,000
O3dg & &= HoE=SUa &t 5,000
03 QI HE2IHExR 158,465 156,011 2,454
OMEH =3 Al 120,384
—J=2 81,672
ANR=F 31,610
X 27,946




M MEXE 0
M MEHE 24

Sl MBS H45 (sl &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
onE 22,116
-a02 27,225
ANR=E 10,537
X+ & 9,316
o E 7,372
-Y&SOHY| 6,807
- AMNRE2E 2,635
X & 2,329
& 1,843
-S4l 4,680
CMNEIE 1,560
X & 1,560
nHE 1,560
OMEN=3 A 40282 13,132
OMEM=s HA EX3HEZ 9,949
OMEE3 AIR=2 294 15,000
04 QIZISHALAIE B2 X 178,500 197,500 A 19,000
oot M=sdlHAF X& 20,000
OMels 58 A3 &t ta
2,000,000& = 500 EHAI 100,000
OHMI183l AIEHH BHE2IE U3 M=l 4,500
OHM183 AIEDI ZIJI=32U3 M= 13,500
OHM26a] ZolAIEIl HOIESWSE N 3,000
OHM93l 2ol AIEH TI20H= 4,500
OMI353 2HAIEI HLULALHE K& 3,000
O8.15&25&)8 =542 2J1U3 Hal 30,000
MNUMMEYE XXX 216,384 206,784 9,600
97,152
119,232
307 QI2t01 ™ 216,384 206,784 9,600
97,152
119,232
02 DI2ZtF AAEE X 216,384 206,784 9,600
OFXLHM MESHMAEX HHIX X (8YH)
2,024,000 » 8" x 1201 & 194,304
97,152
97,152
O MEMESXNEA =4H XA
130,000& = 8" x 1201 & 12,480
O MEMSXNEZA WEH X
100,000 = 8" = 1201 & 9,600
MEH=sd A3 4,000 6,500 A 2,500
== 4,000
307 QI2t01 ™ 4,000 6,500 A 2,500




2N

Xl

= X2 o

Hu: MEBHR 84
chelr MBS 248 CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 4,000
02 QIZFA AAIE E X 4,000 6,500 A 2,500
OMENE=®HS 4,000
= 4,000
MEyseso 2 )aHIH 25,342 25,342 0
= 7,603
Al 17,739
307 QI2t0| ™ 25,342 25,342 0
& 7,603
Al 17,739
02 QI2tAAMAIE E X 25,342 25,342 0]
ONeloldsna 89 6,336
o=t 1,901
Al 4,435
OFAEMeE A 29 6,336
= 1,901
Al 4,435
O+ HsUE 29 6,912
= 2,074
Al 4,838
OdMEsls 29 3,744
= 1,123
Al 2,621
O2gUg 3= 2,014
& 604
Al 1,410
HEd dHsgds I3 135,240 103,392 31,848
J| 60,720
Al 74,520
307 2Iz2t0| & 135,240 103,392 31,848
Jl 60,720
Al 74,520
02 DI AAIRE E X 135,240 103, 392 31,848
Oz2adY MESHSXETA HIX X (5H) 121,440
J| 60,720
Al 60,720
OENNY MEMNSNEX SAaH X3
130,000& * 5H = 128 7,800
OENNYE MEMNSNEX BSH X3
100,000& * 5% = 128 6,000
Z0e HMEsg2s A 73,173 64,259 8,914
307 2iz2to| A 73,173 64,259 8,914
02 QIZ2FA AAIE E X 33,500 28,500 5,000
OEHAN OIetEUs &It 2,000
Osoted=U3 &t 3,000
Os0tel =2 sl &t 2,000




M MEXE 0
M MEHE 24

Helr dMEHs 245 (&)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
OZ2d MMM ot 8,000
OZOeH=s &=z HIXE 10,000
OHM153 ZHOHSIINME A ZE WS F Ot 1,000
020168 d=XMEMHL M=C=al &t 1,000
OHM9zl BEZXAI HOES &2 el &
ot 1,500
OM183 LDESHOIEE d+AHUSE FIt 1,000
OXN21zl dg=sotel=2d Uzl Ml 4,000
03 QIZtHNHEB2HEHEX 39,673 35,759 3,914
Oz Al ZH M =3l el 2t 36,673
- 36,673
s 20,591
o403 6,864
- EE S0t 1,716
=] 1,560
28z 3,381
SESE= 2,561
oA =3 AHR= 23l 2,000
OZOMHM=2 PCHSHI 1,000
el M=ssotel X 27,200 30,000 A2,800
< 13,600
Al 13,600
307 21201 A 27,200 30,000 A2,800
< 13,600
Al 13,600
02 HAHFHANGEEE 27,200 30,000 A2,800
OZMAM=S0tel XN& 27,200
< 13,600
Al 13,600
AZAH0IEA AL 163,704 161,209 2,495
J| 114,593
< 14,733
Al 34,378
301 et a3z 163,704 161,209 2,495
J| 114,593
= 14,733
Al 34,378
01 AR 2Z A 53 163,704 161,209 2,495
OAZ=2ZHOISHAS 163,704
J| 114,593
=) 14,733
Al 34,378
2. #8428 =32(1-210) 29 30,000 30,000 0
307 21201 & 30,000 30,000 0




2N
X ZH -
L= B

el

Xl

AH
(=]
/éli

= X2 o
gi=s g4
g2Ms 243

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 DI2HHALALSE E X 30,000 30,000 0
O2016d 2. #AadE E3(|-210) 2<Z 30,000
HEAL &5 & K2+ 4,958,780 3,354,820 1,603,960
Xl 700,000
Al 4,258,780
=AHEAE =24 2,340,000 667,000 1,673,000
Xl 700,000
Al 1,640,000
401 Al HIZ 2018 2,340,000 667,000 1,673,000
Xl 700,000
Al 1,640,000
01 A& HI 2,339,000 665,000 1,674,000
OXdEHA A=23,216M 2,339,000
Xl 700,000
Al 1,639,000
03 Al 2 0HHI 1,000 2,000 A 1,000
OAIE =2 HHI 1,000
ASH=EAE =4 470,000 1,200,000 A730,000
401 Al HI L 2 THHI 470,000 1,200,000 730,000
01 A& HI 470,000 1,200,000 A730,000
Ost&E a4 B a4 470,000
MEHSAE FH 1,055,000 506,000 549,000
401 Al HIZ 201 8] 1,055,000 506,000 549,000
01 A& HI 1,055,000 506,000 549,000
Os2AZ=HH =38 B 300,000
ONgN=E3d XS0 wH 600,000
OZoi2sd =48 & Mg LM 85,000
OMAESI =g & &X 20,000
Ogx=s3d 2el=2 3| 50,000
HEAE RANE=> 1,093,780 981,820 111,960
201 2et2 Y| 229,680 182,720 46,960
01 At 22l 24,080 7,000 17,080
OMSAE RA2el & & SIIXH=
500,000& * 93| 4,500
O=sdsa FXE ARSI Xz 2,000
oMo 234 E
70,0003 * 150HA = 282 0F * 33 6,300
Oogstzelf&==2
120,000 = 294 « 128 2,880
O&Jletdzte] tHeH==+=2  700,000& = 123 8,400
02 2324l 205,600 175,720 29,880




M MEXE 0

M MBS S4
H@He HWSAE &5 £ NES (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
ONE3d ¥ dsa S MIIAME
450,000& = 167H* * 128 86,400
AHAMEE L HUSHTAIRA HIALE
250,000 = 140 = 22 42,000
OMESAE Mol MEE
60,000& = 100HA » 128 7,200
OM=EAIE S 70,000
202 04| 2,100 2,100 0
01 2LHHI 2,100 2,100 0
OM=EAdE X - 22l SF2F& 2,100
307 QI2t0| M 35,000 35,000 0
03 A2AHNEESIHIES 35,000 35,000 0
OMEIAMNRA Az 35,000
401 Al HI YL 2 0HHI 827,000 672,000 155,000
01 A& HI 825,000 670,000 155,000
O33HEAE RANE 400,000
Ostgd M2 H| 30,000
OZANESEE HE &b 40,000
OsteHILIAZ Ol A 220,000
OXtLXN=SE A= Jbl 40,000
OStedHOIE=Z2E T4 45,000
OXYHOE=ZE =4 50,000
03 AlE 20| 2,000 2,000 0
OMEANE SANES AMERUYI 2,000
dEA=E |4 5,649,631 5,734,140 A 84,509
AL EME 8435 5,649,631 5,734,140 A 84,509
ANE =328 29 1,912,874 2,501,550 N 588,676
201 Yot Y| 94,440 704,400 609,960
01 AFR2t2l bl 67,000 674,800 A 607,800
O == 22l 25,000
OUALEel] AWl AZ Y| 40,000
Os3H 29| 2,000
02 352494l 20,440 22,600 AN2,160
ONx=Xtg KXY 19,440
OdaXte B2 1,000
03 At L I 7,000 7,000 0
Osd) 22 N& 700,000& * 103 7,000
202 4] 1,400 1,400 0
01 2LHOHI 1,400 1,400 0
OUsIEd 2AE323 bl 1,400




M MEXE 0
AN HEHE 24

el AelEMS 438 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
301 gt L= 1,817,034 1,795,750 21,284
09 HALAHIEA S 12,300 12,300 0
O8ZJ dMIARA AH 24| 9,300
- otk 2 M 100,000& = 1H = 153 1,500
- JISA (201, &)
60,0003 * 28 = 153 1,800
-220l 20,000& = 102 = 153 3,000
— A& ZHl 50,0003 = 4H = 153 3,000
OMEZHA &3H X2 100,000 * 303l 3,000
V=t - 2sRS24= 1,804,734 1,783,450 21,284
@feilal. 1,180,900
-Jles 1,015,500
Z2=(23) 49,000,000 = 19 49,000
IRF) 39,000,000& * 2H 78,000
= (A2) 40,500,000& » 49 162,000
-4 2=(B2) 35,250,000& * 99 317,250
= (C2) 28,250,000 * 99 254,250
-4 =(02) 21,000,000& = 49H 84,000
g E&H 29,000,000& * 1H 29,000
B A DA 27,000,000& = 14H 27,000
AMNE=FE 15,000,000& * 1H 15,000
-scl==¢ 500,000& * 20 = 102/ 100,000
-ZdJlsdxg 39,000
Z2=s 2 32X - EolY
100,000& = 3 = 302 9,000
o= 50,000& * 209 =« 303l 30,000
-JIEg 9,600
- B Xt 40,0002 = 10¥ = 128 4,800
2LIE 20,0003 * 20 = 12& 4,800
-AEEH+E (0S8 W)
400,000 * 3Y = 43| 4,800
-5 g3l 1,000,000& * 12& 12,000
OBgz= 138,330
- doiEE 2 11,000
-5 Egx 127,330
OE&Z3 50,000
O=zgtl & &3 312,560
-g=&dl
28,000% * 33F * 20 * 123 221,760
-tHal=& 2 60,800
-AEeO FF3E0I
50,000& = 32% * 28 * 153 48,000




M MEXE 0
AN HEHE 24

chel: dwelEXS B (ol @)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
LAY d4A O3 Y FA-Cup S
50,000& *» 32H * 42 * 23] 12,800
X E&H| 30,000
ORxdX& 21,800
-3 gatt TAZ3 7,000
- AJI2H| 10,000
-8 XEH 200,000 * 2 * 12& 4,800
Oolls &« 283 93,244
-F373 240,000& = 33"  3& dl 23,760
-SU3 66,000& * 28H x 44 * 23| 14,784
-Fcld & 8= 900,000& * 33" x 13 29,700
-E1A2SES 5,000
-%*E2Y 1,800,000& 108 18,000
-2L3 MNEH 200,000& * 103 2,000
OFMHd4 XI&H| 2,000
O&AHAE A 2,500,000& * 23] 5,000
OREAHEZ ES2E0H| 900
HM=lsg 28 & =t 1,590,373 1,516,208 74,165
202 04| 4,500 4,500 0
01 2ol 4,500 4,500 0
OMESXNE SR=A0H| 4,500
203 &R =&H| 2,000 2,000 0
03 A =X R =AH| 2,000 2,000 0
OM=sEXd SR=&H| 2,000
307 QI2t0| ™ 1,583,873 1,509,708 74,165
02 DI2tFAAEE X 944,700 934, 100 10,600
OHMI553 dAaASEM=U3Z 804,200
-SOHAE S&H| 174,400
-GS OMAE =Hlbl 160,000
- E4H| 432,000
—AUAT HeH B 37,800
OHM973 d=2HM=U3 I 10,000
OHM453 d=2AEXMsUHI EFIHAA 5,000
ONd=U3 LaX A 40,000
O2016E 2dENES AUz Ot 6,300
02016 2olAIMS A Alatal 2 Y s010 8t 4,000
OM=3 Atoh JPWSH X &
2,000,000 = 320 =HAI 64,000
ORUIEIA AZ=NE S| 11,200
03 AU EESIHE=X 639,173 565,608 73,565
OIts+&EINE 298l X& 15,000




2N
P HEEHE |4

el

X ZH
S =

=X

delENM= 2453

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ot I XNEX K& 68,400
OM=3a 22Xl elAdl XA

1,400,000& * 15 * 123 252,000
OM=3a 22X 440 EE=
252,000,000& * 11% 27,720
OM=3a 2X EAREYIZ
252,000,000& = 1/12 21,000
OM=3a AIR= 29l 22,500
OZdiAlM =2l lAH] 161,658
-Jles 128,157
CAR=FAS 45,000
- A (63162 JIE) 3,071,7008 + 128 36,861
(T 118 IIE)
2,439,600 ~ 12& 29,276
ZEAH(D1s9233 JIE)
1,418,300& * 128 17,020
-32=+¢ 5,308
N ES 3,071,700& * 50% * 23l 3,072
S k& 2,439,600 = 40% * 23| 1,952
2EAF 1,418,300& * 10% * 23| 284
- EF0Hl 8,317
X 3,071,700& = 60% * 23| 3,687
HE 2,439,600& * 60% * 23| 2,928
2EA 1,418,300& * 60% * 23| 1,702
-AgBExsY 9,600
CAR=FE 400,000& = 12& 4,800
& 155,000& » 12&8 1,860
- tE 140,000& * 128 1,680
- 2HAL 105,000& * 12& 1,260
- Z U A 6,240
AR =2E 130,000& * 12& 1,560
- & 130,000& » 12& 1,560
- tE 130,000& * 12& 1,560
2HAL 130,000& » 12& 1,560
-IIEE 1,920
CAE=FE 40,000& = 123 480
X+ 40,000& = 12& 480
HE 80,0008 * 12& 960
— HOtE 4| 2,116
CANR=E
3,604,900% * 86% * 1/30 » 7 724
THE 3,071,700 » 86% * 1/30 = 7 617
S k& 2,439,600 * 86% * 1/30 » 7 490
2EA 1,418,300 » 86% * 1/30 * 7 285




M MEXE 0
AN HEHE 24
& deEMSE 45

SA BB O () - MM - HES 0l &+ o4 il
OAR= A3 EAYZ 161,658,000& /128 13,472
OANR= 3 4122  161,658,000& * 11% 17,783
OHM=3l HAIIA 21 24Hl 2,000,0008 * 12& 24,000
ONMSES HAIIA 401 BE S
24,000,000 * 11% 2,640
OMS3 HAIA E2EYB
24,000,000€ * 1/12 2,000
ONMEs e 29HI(K|XH, BEEE2S) 11,000
sy 29 1,508,384 1,508,382
201 L2l 9,000 9,000
01 At 22/ 5,400 5,400
Obdtdl=4a 22l 150,000& = 12& 1,800
Odhdlsa B3 F HNEYI 150,000& * 12& 1,800
OdaI=a MR 2 33 8258 7L
150,000& * 12& 1,800
02 =224l 3,600 3,600
Odal=a gyl & vtz 8
300,000& = 12& 3,600
202 oddl 1,200 1,200
01 = LH 4 1l 1,200 1,200
OUSIEd &3 23F ol
50,000& * 29 x 6 * 23| 1,200
301 LP A 1,438, 184 1,438, 182
Vo=t - 2SRESE43 1,438,184 1,438,182
@il 884,108
-JlE= 678,174
4= 3,257,200& *« 1H » 12& 39,087
X 3,257,200& « 1H » 128 39,087
Hd= 2,500,000& * 20 = 12& 600,000
—2dg 72,000
= 500,000& = 1¥ = 12& 6,000
2 500,000& = 1H = 123 6,000
s 250,000 * 209 = 12& 60,000
-d2=g 56,516
- Ys 3,257,200& * 50% *» 198 = 23| 3,258
- 32X 3,257,200& * 50% *» 198 * 23| 3,258
SRaES 2,500,000& = 50% * 208 = 23| 50,000
- HEFOHl 67,818
- Us 3,257,200& * 60% * 198 = 23| 3,909
- 32X 3,257,200 * 60% *» 1H * 23| 3,909
SRaEs 2,500,000& = 60% * 208 =* 23| 60,000
-JtE=¢ 9,600




M MEXE 0
AN HEHE 24
& deEMSE 45

SA - ZE-B(EA) - NRAY - B S il
b < Xt 40,000& = 1098 = 12& 4,800
2T 20,0003 * 20 = 12& 4,800

o= gstl 600,000& = 12& 7,200
o5l 282 96,594
OE&Z3 50,000
ORsEHZ3 70,000
O=d&tl 198,000
— AlHI 138,600
- S =4 70,0003 * 22 » 12& 18,480
— 2tAlY| 5,000& * 22H * 259 * 123 33,000
- S A 30,0003 * 22% » 12& 7,920
OUsl&&ZHl 32,152
— =g 30,000& * 22%H * 52 * 33| 9,900
— Al 24,0003 = 22% * 6 * 33 9,504
— S A 5,000& = 2298 * 6 * 33l 1,980
- S22 4,000% * 22% * 6 * 33 1,584
— 2FAlH| 4,000& * 22% * 62 = 33 1,584
- X Xl 1,200,000 * 43| 4,800
-2 =Xl 700,000 * 43 2,800
OFHlI7 29,650
- AE 440,000& * 244 10,560
-ot213 33,000& = 1004 3,300
—Alg 200,000 = 229 = 33 dl 13,200
-Uel2s 35,0003 * 22FH x 23| 1,540
— GKZ& HI 200,000& = 13l 200
-3 Zl 20,000& = 115 220
—H & 30,000& = 115 330
— &l IOt 300,000& = 14 300
o1l =l 23,980
— SH I3t 250,000 = 229 13| 5,500
-E5= 150,000& * 22% * 13| 3,300
-SUS 80,0003 = 22H * 28 « 23| 7,040
-&cld 150,000 * 22% » 23| 6,600
-HE2= 70,000 = 229 = 13 1,540
OoAs+Y 150,000& » 12& 1,800
O&EX Z&HI(2WH £ =2H) 30,000
Ofa & XI=HI| 4,000
O X2 200,000& = 29¥ « 12& 4,800
OZe SAH 5,000
ORI AHE o4 dl 150,000 * 63l 900
307 2Iztol ™ 60,000
03 BIAHNHE2IHIEE 60,000




2N

=X

Mz M2HE 84
e delEMs 243 (2 &HH)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@i HRE2
OdYaaIgs 29H X& 60,000
EIambc E=PNEE] 108,000 208,000 A 100,000
308 XHXIGH SO0l & 108,000 208,000 A 100,000
08 W=Jl&otistE = 108,000 208,000 A 100,000
OuUuEXId HEells BX2 100,000
OstMeES Ho A3
4,000,000& = 2J0 1 8,000
M21s 2olAMSHE M= 530,000 0 530,000
307 QI2t0| ™ 530,000 0 530,000
02 QI2tAAMAIE E =X 530,000 0 530,000
OHM21a ZolAI2IH =S 4=l 530,000
N 4 515,050 538,700 N 23,650
= 15,000
Al 500,050
AZX(OIHE 43 515,050 538,700 AN 23,650
o=t 15,000
Al 500,050
SO 2 2RI U3 8X 508,050 531,200 A 23,150
o 15,000
Al 493,050
201 et d| 5,250 7,400 A2,150
03 HAI2 G HI 5,250 7,400 A2,150
OEH? & M2 U =24+ M
55,000& * 5 = 14JH0H 3 3,850
OEH? & dI2AUE Mz 2 237
20,000& = 5 x 14JHCH 3| 1,400
202 044l 2,800 2,800 0
01 2L I 2,800 2,800 0
OAZX[0IANE 2= 2,800
203 SR F & 10,000 10,000 0
03 AIZH =X 2= X H| 10,000 10,000 0
OMSSHAI 2H X 2 28| 10,000
301 et A= 1,000 1,000 0
09 HAIAHI BEAZ 1,000 1,000 0
OGS & MI2CAUE KNS ALAAHIZ A
10,000& * 102 = 10JHCH 3l 1,000
307 giztol A 489,000 510,000 A 21,000
& 15,000
Al 474,000
04 CIZ2tSHALALS B = 489,000 510,000 A 21,000
OHM163 H=s0l121 M=c2E0k2U3 15,000
OHM10a ZoHAIZEB 8=HsU3 30,000




M MEXE 0
N MsNY |4

ool AXX0OLAE 43 (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OHMbsl e = d2FFU3 40,000
O2016E 2dll=2Z OietEU 3 60,000
02016 &= MBS HHEUESHH S 10,000
OXNb4sl EEJ 8= =UE 70,000
OHM38al Uet=ea & 8=0Sstn FF
th=l 73,000
02016 &Hel a3t sl 85,000
< 15,000
Al 70,000
02016 st=aUst&JAY M= oFI|HE 35,000
O&=ot+ a3 11,000
OdolAIZH 8=20ssw 2|1 d=WUe 30,000
ORM3a ZoHAIZEH M==Z20t0t HAAZ =LY
3 10,000
OZoHAIZH = s5¢ HLUALSE 10,000
O==d dI34d=+A U3l 10,000
HdAEd RXNS AZX0HAHE 29 7,000 7,500 A 500
201 et 7,000 7,500 A 500
01 At 22l 7,000 7,500 A 500
OsHdX=zd s28 MA
2,000& » 2,000% 4,000
OZIIF2SAE R
200,000& = 3 = 5 CH 3 3,000
HE2IAZH(MS XA D) 66,824 69,880 A 3,056
Jl23 4l 66,824 69,880 A 3,056
JI23l 66,824 69,880 A 3,056
201 LB-2d| 19,184 22,240 A 3,056
01 At 2t 2| I 19,184 22,240 A 3,056
OJIZ2Ae EFHI 7,700
OZBHEH 5 d&A2F 2Y 1,620
Ootzt & FTL2RX 4l 8,064
O=SAD Xz 150,000& » 12& 1,800
202 odl 42,240 42,240 0
01 2U 01 b 42,240 42,240 0
OJIeg =&l 42,240
203 PR =&l 4,200 4,200 0
04 2SI LRI 4,200 4,200 0
ORNM2Y =2 350,000 * 123 4,200
204 HR=HAH| 1,200 1,200 0
01 Mg 1,200 1,200 0
O&Mg PR FH| 100,000& » 12& 1,200




2AM: XA D
H: MHWPES(MSX2)
ol BEXE (chel & 9l)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
HEsSS(HMSX) 61,000 60,000 1,000
PSS ONE=] 61,000 60,000 1,000
XNeMazsH(dSHSAE =4) 61,000 60,000 1,000
311 X 20| AHAH & 61,000 60,000 1,000
01 Al -2« 2XREHNLISXL 20| XHAHE 61,000 60,000 1,000
P

2,000,000,000& * 3.05% 61,000




